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QUESTION 1

Scenario: The NetScaler has connections to a large number of VPNs. The network engineer wants to minimize the
number of ARP requests. Which feature should the network engineer enable to minimize ARP requests?

A. TCP Buffering

B. Use Source IP

C. Edge Configuration

D. MAC based forwarding

Correct Answer: D

QUESTION 2

Which two compression actions could a NetScaler engineer use? (Choose two.)
A. bzip2

B. deflate

C. compress

D. pack200-gzip

Correct Answer: BC

QUESTION 3

A network engineer wants to collect performance statistics regarding the traffic between different points in the
connection, specifically from client-to-NetScaler and from NetScaler to back-end server, and be able to present this to
different analysis tools. Which feature on the NetScaler could the engineer use for this?

A. Syslog

B. nstrace

C. AppFlow

D. nsconmsg

Correct Answer: C

QUESTION 4

While performing some re-cabling, a NetScaler engineer noticed that a power supply unit failed on a NetScaler
appliance. What should the engineer enable to receive notification of a future hardware failure?

Latest 1Y0-A28 Dumps | 1Y0-A28 VCE Dumps | 1Y0-A28 Practice Test 2/6


https://www.passapply.com/1Y0-A28.html
https://www.passapply.com/1Y0-A28.html
https://www.passapply.com/1Y0-A28.html

VCE & PDF https://www.passapply.com/1Y0-A28.html|
2021 Latest passapply 1Y0-A28 PDF and VCE dumps Download

PassApply.com

A. SMTP

B. SNMP

C. Health monitoring

D. EdgeSight monitoring

Correct Answer: B

QUESTION 5

Scenario: The network engineer is setting up a new NetScaler using a direct connection. Three networks are connected
to the NetScaler. After initial configuration and restart, the engineer would like to confirm the routing table entries.

From which location and which command should the engineer run to display the routing table?
A. From the shell \\'netstat -r\\

B. From the shell \\'route monitor\\

C. From the command-line interface \\'show pbr\\'

D. From the command-line interface \\'show route\\

Correct Answer: D

QUESTION 6

What are two valid ways of checking that a back-end web server is reachable from the NetScaler SNIP address using
port 80? (Choose two.)

A. Run traceroute.

B. Run telnet using the -srcip option.

C. Bind a DNS monitor to a service group containing the web server.
D. Bind a HTTP monitor to a service group containing the web server.
E. Run the ping command between the NetScaler and the web server.

Correct Answer: BD

QUESTION 7

Scenario: A NetScaler environment uses two-factor authentication and the second authentication method is AD. A user
logs in to the environment but does NOT receive access to the resources that the user should have access to.

How can an engineer determine the AD authentication issue on the NetScaler?
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A. Check NSlogs.

B. Use nsconmsg.

C. Use the cat aaad.debug command.
D. Check the authorization configuration.

Correct Answer: C

QUESTION 8

An environment network has:

High bandwidth Low packet loss High Round-Trip Time (RTT)

Which TCP profile should an engineer configure for the environment described?
A. Nstcp_default_profile

B. Nstcp_default_tcp_lIfp

C. Nstcp_default_tcp_Inp

D. Nstcp_default_tcp_lan

Correct Answer: B

QUESTION 9

When binding a certificate to a virtual server, which two certificate formats are supported by NetScaler? (Choose two.)
A. P7B

B. PFX

C. PEM

D. DER

Correct Answer: CD

QUESTION 10

A network engineer runs the following command:

nsconmsg -K /var/nslog/newnslog -s nsdebug_pe=1 -d oldconmsg
What is the engineer trying to check in the log?

A. Bandwidth information
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B. Load-balancing information
C. Content-switching statistics
D. Memory utilization information

Correct Answer: A

QUESTION 11

A network engineer is investigating a recent failure of NetScaler high availability and confirms that some recent changes
were made to the configuration. What is a likely cause of the failure?

A. Load balancing virtual server marked DOWN.

B. SNIP has had management access removed.

C. RPC node password changed on an appliance.
D. The network command policy has been modified.

Correct Answer: C

QUESTION 12

What type of protocol does AppFlow use for reporting?
A. TCP

B. UDP

C.HTTP

D. SSL_TCP

Correct Answer: B
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